,_ Y=48007.882
- X=44364.719
= . : = X=44369.082
=] T 1‘ ~ = v e ot Y=48328.464
%ﬁ Y=48008.626 \ — o ——
A \ () X=44350.733_~ RZY R20
‘*‘ Y=48304.968 X=44348,839 —
x _ \ SM-08-3-1 X=44347.825 .. Y=48323.496 {
o KT Y=48318,58;m/ | \L 1
| — = | | | —  \
= | | 39039 | | ’,
0 X=44265,003 ——
ﬁ : s | Y=48340.919 T
il '\ - | e - B/l
= \ S\ ETonanana ST Jwans
B Xe4423 / Thnn X=44263.984 Y
::i Gl X=44225.175 V | D Y=4876 r\%m Y=48336.017 H=20.000 Emmmmune, [H_Jmuenss
’ g i ' 245,662 | T oisss F—Jsuawae [E——]wronn
F: i $247.902 | - : = > =
5 Gl R20 EJenems [2 Jrrure
\| II | = [T2] Jeswms o
7T i R20 R, it N
- —d Mg svmanast S
I = o RN RET AT |
1
X=44126, &
i e g Lo
] \ | EEEEAS
1 2 | A | (B R
X | R
i il R I ]
iz RSB 1R t
= wse | Res [TOERIAER | apy BAER e ﬁ@ﬁ*iﬁﬁ R ENRRIRE Rk il A
(m . Gl %
\srog31 | m 39039 2035 | > - 7807 BIOCFIRHERERR | _yrurpamens
El i | A (B 136635 Hif=>0. 34 G

h=17.930 -

X=44339.159
Y=47907.709

]IIDIJIID.]U-]I.J;;;_“..[.[

X=44385.983

el 8§ §
G2 [l

et BB 5 §F

TRE IR

G2 Oy

SM-08-3-1

Rigfr B

v {l \
vl ) \ AN
f | S

|




